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my str = "hello world"

# Print the first 5 letters

print my str[:5]

# Print all letters from position 6

print my str[6:]

# Print all letters from position 3 until 7
print my str[3:8]

$ ./my-program.py
hello

world

lo wo
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» unicode() & encode() % T UTF-8 =1k D

input_file = open("test file.txt", "r")
for my str in input file:
my_utf_Str = unicode( my_Str, "Utf—8" )

# Handle the string as a byte string
print "str: %s %s" % (my str[0:2], my str[2:4])

# Handle the string as a unicode string
print "utf str: %s %s" % (my utf str[0:2].encode("utf-8"),
my utf str[2:4].encode("utf-8"))

$ cat test file.txt

BEEDE

$ ./my-program.py
str: 06 @ 4

utf str: EEE ol
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(agricultural product price stabilization law) (agricultural cost of living discount measurement)
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P(RE ¥ |8 RE K)=4.12*10%
P(RE MM % EiR) =3.53*10%
P(IEE ¥ i 8% E/E)=6.53*10%
P(RE # @8 & E%)=6.53*107
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-log(P( BE)) +-log(P(¥1)) =1.4+23=37
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best score[0] =0
for each node in the graph ( RIIE)
best_score[node] = «
for each incoming edge of node
score = best_score|edge.prev_node] + edge.score
If score < best_score[node]
best _score[node] = score
best_edge[node] = edge
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2.1 e4
#HR1E :

best score[0] =0

e Z51H :
score=0+25=2.5 (< )
best _score[l] = 2.5
best_edge[l] = e
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#HR1E :

best score[0] =0

e Z51H :
score=0+2.5=2.5 (< )
best _score[l] = 2.5
best_edge[l] = e

e 518 :
score=0+1.4=1.4 (< )
best _score[2]=1.4
best_edge[2] = e,
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2.1 e _
4 e =58 :
#HAE : score=25+4.0=6.5(>1.4)
best score[0] =0 ZERL |

e Z51H :
score=0+2.5=2.5 (< )
best _score[l] = 2.5
best_edge[l] = e

e 518 :
score=0+1.4=1.4 (< )
best _score[2]=1.4
best_edge[2] = e,
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MAE - score=25+4.0=65(>1.4)
best score[0] =0 ZERL |
e Z518 . e =58 .
score=0+25=25 (< ) score=25+2.1=4.6 (< )
best _score[l] = 2.5 best_score[3] = 4.6
best_edge[l] = e best_edge[3] = e,

e 518 :
score=0+1.4=1.4 (< )
best _score[2]=1.4
best_edge[2] = e,
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AL 'score=2.5+4.0=6.5 (> 1.4)
best _score[0] =0 ZEGL !

e Z518 . e =58 .
score =0+ 2.5=2.5 (<) score = 2.5+ 2.1 =4.6 (< »)
best_score[l] = 2.5 ~Scorel[3L =4
best_edge[1] = e, best—ete

e 258 : e ZatH .
score=0+1.4=1.4 (<) score = 1.4 + 2.3 =3.7 (< 4.6)
best_score[2] = 1.4 best_score[3] =

best edge[2] = e, best _edge[3] = e, 25
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best score =(0.0,25,1.4,3.7)
best_ edge = (NULL, e , e, e_)
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best _path =]
next_edge = best_edge|best_edge.length — 1]
while next_edge '= NULL

add next_edge to best_path

next_edge = best_edge[next_edge.prev_node]
reverse best path
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best path =]
next_edge = best_edge[3] = e,
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fHEAE :
best path =]
next_edge = best_edge[3] = e,

e Zs
best_path = [e ]

next_edge = best_edge[2] = e,
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2
best_path = [e_, e ]
next_edge = best _edge[0] = NULL

best path =]
next_edge = best_edge[3] = e,

e ks
best_path = [e ]

next_edge = best_edge[2] = e,
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=5
best_path = [e_, e ]
next_edge = best _edge[0] = NULL

best path =]
next_edge = best_edge[3] = e,

e ZE R WEICTHERFZ :
best_path = [e ]
next_edge = best_edge[2] = e,

best_path =[e , e ]
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my list = [ 1, 2, 3, 4, 5 ]
my list.reverse()

print my list

$ ./my-program.py

[5, 4, 3, 2, 1]
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lm-

RSB DEIDRIAE AT Y 7

E E 7
0 1 2 3
0.0 + -log(P( &))
0.0 + -log(P( BE))
best(1) + -log(P( E ))

0.0 + -log(P( BEEW))
best(1) + -log(P( E¥))

best(2) + -log(P(41))
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P “proof” )=1/N

unk

P (“RE (ZH58BW, m:proof” )=1/N

unk
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load a map of unigram probabilities # 1-gram 7L DEZEREN S

for each line in the input
# BIAEATYT
remove newline and convert line with “unicode()”
best _edge[0] = NULL
best _score[0] =0
for each word _end in [1, 2, ..., length(line)]
best score[word_end] = 10° # ETCHERIEBIRE
for each word_beginin [0, 1, ..., word_end — 1]
word = line[word_begin:word_end] # &89 X=F5|%E15
if word is in unigram or length(word) = 1 # BFHEEHNRI 1
prob =P __(word) # 1-gram JBEE &R L
my_score = best_score[word_begin] + -log( prob )
If my _score < best_score[word_end]
best_score[word _end] = my_score 37
best edge[word end] = (word begin, word end)
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# RAAERTYT
words =[]
next_edge = best_edge| length(best_edge) — 1 |
while next_edge '= NULL
# ZDITYYDEDXFHN%ENM
word = line[next_edge[0].next_edge[1] ]
encode word with the “encode()” function
append word to words
next_edge = best_edge| next_edge[0] ]
words.reverse()
join words into a string and print
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« EFJ):test/04-unigram.txt
e AJ1:test/04-input.txt

e IFf%: test/04-answer.txt

4 5]

e data/wiki-ja-train.word Z{&> TE&H L7 1-gram £
T IV, data/wiki-ja-test.txt =49 Z

« DEIEEZLLTOR YY) 7 b T

script/gradews.pl data/wiki-ja-test.word my answer.word

e F{E (F-meas) =
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